“Pde+"YQdy =0
or _oQ
dy  Ox

: T Y st —
IS
dy ox

ds dt ds dt
TY —~ TY —~
aq ;I;;y ar] :L‘Zy
-
ox dy @

T Y st — Y it —— Y xit —
@_3// Q 0Q 0P _ wp
Ox or B B

or Ox Oy
ds dt dt
Yy T st — T 81y — T 8y —
PR
dy Oy dy oy or
dt ds ds ds

2zydr + (22 + 1) dy =0
(2 +y)dr + (xr —2y)dy =0
(" T Ye+ 7T s) do + 27 T Yedy = 0
yedr + (14 xe™)dy =0 =2 e +y = C implicit

20%sdr + 322 ¥edy = 0 %; 2?35y =C

d
2x—%d:c—|——y:0§> 2+ =C—=y=u2C—a? explicit
T T T

(e +2(x—y))de = (e¥s+2(x—y))dy =2 €Y + T—g =C =

Yo + 2xeY
“Aerrogz RYITPRO+W=C



2,2
e +y*rde+ 2?ydy =0 =2 em—l——ny =C = C:e=>y0 =

y(1) =0 <z <1
ex 3e2 — 1 — 322
y+6xdw+%—2dy:0 = Y= c &
T — y(e) =1 To — 2

eV’ 4+ 2+ <2xyey2 — 4yc> y =0=
(zy? = 3)de + g%y +2ydy =0 =2

20y +2y + 2%y +2x+yy =0 =2



